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I. Choose the correct option:- 

1. Equal treatment to the women is a necessary ingredient of a democratic society. This means 
A. women are actually treated with respect. 
B. it is now easier for women to wage a struggle for their rights. 
C. most societies across the world now increasingly women dominated. 
D. women are treated as equals in the political arena. 
 

2 Social outcomes of democracy cover the areas like------------- 
(i) Dignity and freedom of citizens 
(ii) Untouchability and discrimination 
(iii) Economic equality 
(iv) Ban on child labour 
A. (i), (iii) and (iv) 
B. (i), (ii) and (iv) 
C. (ii) and (iv) 
D. (i) only 

3 Democracy is considered as a better form of government because, 
A. It ensures economic development 
B. It guarantees economic equality 
C. It provides a method to resolve conflict 
D. Option A and B 

4. Democracy is considered to be better than other form of government. 
Which of the following statement support this statement? 
i)  It is more accountable form of government. 
ii) It improves the quality of decision making. 
iii) It ensures rapid economic growth of the citizens 
iv) It enhances the dignity of the citizens. 
Options: 
A. i), ii), iv) 
B. i) and iii) 
C.  i), ii), iii) 
D. ii), iii), iv) 

5. Which of the statements about economic growth and development are correct? 
Statement I: The difference in rates of economic development between less developed countries 
with dictatorship and democracies are negligible. 
Statement II: In actual life, democracies do not appear to be very successful in reducing economic 
inequalities. 
Options: 
A. Statement I is incorrect but the Statement II is correct. 
B. Statement I is correct but the Statement II is incorrect. 
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C. Statement I and Statement II are correct. 
D. Statement I and Statement II both are incorrect. 

6. Democracy stand much superior to any other form of government in …………………….? 
A. All people 
B. Marginalised society 
C. Other political parties 
D. promoting dignity and freedom of the individual. 

7. Which one of the following is not a feature of non-democratic regimes? 
A. These do not have to bother about public opinion. 
B. These take less time to arrive at a decision. 
C. Principle of individual dignity has legal force. 
D. These often suppress internal social differences. 

8. Which of the following statements best signifies the cartoon? 
  
 
 
 
 
 
 

 
 

A. Democracy produces less effective government. 
B. Democracies do not appear to be successful in reducing economic inequalities among 
citizens. 
C. Democracies fall short in subjecting every decision to public debate. 
D. None of the above. 

B. Assertion and Reasoning: 
In the questions given below, there are statements marked as assertion (A) and reasons(R). Read 
the statements and choose the correct options: 

9. 
 
 
 
 
 
 
 

Assertion: Transparency means openness communication and accountability of the government. 
Reason: Transparency is missing in  democratic government. 
Options: 
A. Both (A) and (R) are true and (R) is the correct explanation of (A). 
B. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
C. (A) is true and (R)is false. 
D. (A) is false and (R) is true 
Ans: C. (A) is true and (R)is false. 

10. Assertion (A): Democracies usually develop a procedure to conduct their competition. 
Reason (R): This reduces the possibility of  tensions becoming explosive or violent. 
Options: 
 A. Both (A) and (R) are true and (R) is the correct explanation of (A). 
 B. Both (A) and (R) are true, but (R) is not the correct explanation of (A).  
 C. (A) is true, but (R) is false  
 D. (A) is false, but (R) is true 
Ans. A. Both (A) and (R) are true and (R) is the correct explanation of (A). 
 

 


